Based on your experience with improper integrals, again, fill in the chart below.

Comparison of Series
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Direct Comparison Test (DCT)
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Determine whether the following converge or diverge.
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Sometimes the inequalities needed above don’t hold or are difficult to show, but you still strongly suspect
the result because you recognize a similar series with which to compare it.

finite and positive.

n=1

Limit Comparison Test (LCT)

If ¢, >0 and b, 20, and hmb——L or llmb—
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Then the two series ) a, and Y b, either both converge or both diverge.
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Example 15:
Determine whether the following converge or diverge.
a)
3 ,,z_; 3n’ —4n+5
~ ___.L—*-/ \3 - _Lz:
Uy = gn%dats " on
Ms. 2 .
3=ty
I.UM q-ﬁ‘-; /L—-——"_b T l"‘LiO
pae Ba Yn> T

ﬁ‘\{ Lo (wl c=3%0), The 0-Sez e

E_ -L (pnoveesss BlC p=2>|

e Puso (owveees>
Z_ ZaUNS
&1
(© Lor s
i g
Fn - = 3 by n’
o . S, 07
A3 ba = MW n-z
SepieS
By Lz:/ (wl c=1£0), The P e

% (OLUPLC'»'S ‘q?lc’ V 31
3=l n
Z —— AL (uosbs>

n' +10
(b),,E_:.tln —n +7
b ___ b > _L
Ltﬁdﬂ 1n® %‘{n S B
CU\ ( )
nln ‘o ()
h‘M E'I‘n':h'M qf J—* [
A0 b Yn*-n T‘} E/ (pere
Ba Lol ¢=4) Swes 5 >
w 0 ;
DiVELOFS, = Jla:%‘&‘: p”’;‘)
vt PluEnerS
- 1
(d),,g"{\/l’m—Z
o
e PO T
thz \“5.’/1-7 n m
ng,sa b \( Vi ‘B“"?‘ >
gy Let(wl ¢ 6>,D+EF’“SE“ES
%) 1

‘f/’ Dwerses Bc P;'7E

n
-— Riso D( VELGES
Gz

nwlvp
.
- D=

i



